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SSEY oA 1Al NH 13,460 13,460 0
101 @14l 10,460 10,460 0
02 JIEtE B = 10,460 10,460 0
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AN sg€II=4dH
M HH2ALH (sF4)
chel: ol 2y (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
OfIg=+g 50,000& x12& 600
Ogdas = 600,000& »12& 7,200
OAZ2 =& 2,660
202 oddl 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
O3SLI==2AA &3 0l 3,000
Jl23&dl 71,440 61,120 10,320
28 (sH M) 41,440 37,120 4,320
201 et 13,000 12,600 400
01 At 22l 13,000 12,600 400
O2N2Y LEr=EH| 800,000& »12& 9,600
OZ2M2g =St 8,000% 17X »254! 3,400
202 o4dl 19,700 16,500 3,200
01 = LH o4 1l 19,700 16,500 3,200
O2N2g Kl 20,0003 x 17«5 1,700
O=UW o di 20,0003 x6H x150 18,000
203 YR =&l 8,740 8,020 720
01 1228 =8H 3,300 3,300 0
OsgllsdHaz 3,300
02 It =AY 1,840 1,720 120
OIS R =2 40,0003 »469H 1,840
04 FN2ELRZ=TH| 3,600 3,000 600
ORAM2IYRFLHI 300,000& 128 3,600
Jl2ddl(HsHEE) 6,000 0 6,000
202 oddl 6,000 0 6,000
01 = LH o4 1l 6,000 0 6,000
O=Wotl 20,0003 »2H 150 6,000
28l (SFEXNEE) 9,000 9,000 0
202 (4 Hl 9,000 9,000 0
01 = LH YI 9,000 9,000 0
O=UW A bl 20,0003 x3H x150 9,000
2l (SaEHY) 9,000 9,000 0
202 O4dl 9,000 9,000 0
01 = LHA YI 9,000 9,000 0
O =L Hi 20,0003 x3H x150 9,000
23yl (otsgdd) 6,000 6,000 0
202 oddl 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
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fAM: sgIlsdH
N ==F sz

B.?_| A 2 A (C}_?,|'£—|_O‘:])

D
r
0
o
1
ton

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

== 23,201
s 54,137

307 glz2tol & 41,200 122,375 AB1,175
= 21,250
< 585
s 19,365

02 It HAMHEE 5,200 110,375 A 105,175
O=sZEMEgF20sAdIMEE XA (1200 2) 5,200
= 3,250
= 585
i 1,365

04 QIZFHALAIRH B & 36,000 12,000 24,000
OsESHX S (2MHA) 36,000
= 18,000
i 18,000

FABHAZ I =H 39,362 40,126 AT764
= 19,681
s 19,681

301 et d = 39,362 40,126 AT64
= 19,681
s 19,681

12243 39,362 40,126 AT764
OZ2SHAZH KI&(231,543m") 39,362
= 19,681
[ia 19,681

MEgotgeld u=sid 4,320 3,866 454
= 2,700
< 486
e 1,134

301 et a = 4,320 3,866 454
= 2,700
< 486
i 1,134

09 &AL HI B &S 4,320 3,866 454
OsZENEgs20is AdZ3AS2s X ALY 4,320
= 2,700
< 486
s 1,134

SEMEXNEZA & OISHEI 24 18,000 20,400 A 2,400
< 4,500
[ia 13,500

307 21201 A 18,000 20,400 A 2,400
< 4,500
[ia 13,500

02 It S AHE L 18,000 20,400 A2,400
OsZHMEXNZA & DSt 24 18,000
< 4,500
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AN seIIsHE

My =ENEE 28
SR BR=Y R4 (298 R)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
| = 13,500
SEMEFL0I2 FEMIE N2AY 43,200 0 43,200
= 24,000
< 5,760
= 13,440
307 012+0I & 43,200 0 43,200
= 24,000
T 5,760
= 13,440
02 DIZtZAAMEE X 43,200 0 43,200
OsZMEs20ls FEARE X (2MA) 43,200
= 24,000
& 5,760
= 13,440
IESE MADI= e 193,977 158,205 35,772
ASAIYEIZE 2t 129,798 82,376 47,422
101 @121 20,748 18,526 2,222
04 JI2ZtH22XNHEE =+ 20,748 18,526 2,222
O&ASAEE 29 oAb 20,748
—-JlE2= 66,8003 *1H %247 16,500
—=X=sY 66,800& *1H x56 3,741
— 402 E 66,8003 *1H *303%2. 5% 507
282 A 21,050 ,350 A 300
AP 22l bl 1,000 ,000 0
O&LSAEEE & M 1,000
3294l 20,050 ,350 A 300
QAZSANBIE MI2 S(Exd BEE) 7,000
OASANYEELE AZH| 5,400
OASANEEZE s&5HI| Azl 2,050
OASAIBEH RSB (AL S) 5,600
WL 10,000 1500 A 8,500
2l 10,000 ,500 A 8,500
OASAEEIHE 29 IMAE S) 10,000
o 2 OH e y| 2,000 ,000 A 1,000
A& A 2| 2,000 ,000 A 1,000
OMIIs ASAY ARNL 2,000
SRR 1,000 ,000 0
SHALAIHIE A2 1,000 ,000 0
O&=scYd 5=t AS 1,000
AEH L 20U Y| 70,000 ,000 50,000
Al &l 70,000 ,000 50,000
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AN sg€II=4dH
My =ENEE 28
e DFE Mad=s HE (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OASAEE A2 HES 70,000
405 TtHabF S| 5,000 0 5,000
01 AL EFSHSHI 5,000 0 5,000
OASANEEE tEE 2 5,000
224 ASE 2 32,609 36,129 A 3,520
101 @124l 4,109 6,029 A 1,920
04 JI2ZtHZ22HEE =+ 4,109 6,029 A 1,920
O ozl 4,109
—Jles 66,800 1 502 3,340
PN = 66,800 x 1«10 668
— 42 E 66,800 «1H 60 2. 5% 101
201 et 7,000 8,600 A 1,600
02 2324l 7,000 8,600 A 1,600
OESHA=Ed dllg s 7,000
206 M= Hl 6,500 6,500 0
01 =8l 6,500 6,500 0
OsXM F(s%, HIE S) 1,500
OFA =48 AE272(608) 5,000
401 AIEHIZL 20 15,000 15,000 0
01 A& Bl 15,000 15,000 0
ootgiesd FIES (R 45) 10,000
OFd 8 RANES(ZTE S) 5,000
s 830 XA 5,000 8,000 A 3,000
206 = Hl 5,000 8,000 A 3,000
01 MHZ 4l 5,000 8,000 A 3,000
OBEMZ Jl&zg 29 M= (14]) 5,000
Z22RF 22 26,570 31,700 25,130
101 @124l 21,570 21,700 A 130
04 JI12ZtHZ22HEE = 21,570 21,700 A 130
OZMA QIHHI (1) 21,570
—Jles 66,800 x 1 »247 16,500
—FEE 66,8003 1 68 4,543
— 42 E 66,800 *1H *x3152 2. 5% 527
206 = Hl 5,000 10,000 A5,000
01 M2 8l 5,000 10,000 A5,000
OZMA MM (SR, EHl, 4 S) 5,000
sg3d d8 N& 28,000 55,280 A27,280
= 9,160
< 1,500
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AN seIIsHE

My =ENEE 28
Sl =YY 2 X (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 17,340
=g 2% W= 9,000 38,720 N29,720
201 LB-2EH| 2,000 2,720 AT20
01 At 2t 2l 1,000 1,000 0
Odet+=ZH (M= 29) 1,000
02 =224l 1,000 1,720 AT20
O&ftun=Ezd RAL =+ 1,000
301 gt d= 4,000 4,500 A 500
09 SALAHIEA S 4,000 4,500 A 500
OZEs =g ux . dA 4,000
— =g WE ZAZ 3,500
- S0 BAXL 242 500
405 RHoHE S HI 3,000 31,500 A 28,500
01 et EZFH S 3,000 31,500 A 28,500
O&itn=z WsaHl WX 3,000
—wWEs = 1,500, 000& »2CH 3,000
SMHESASETAMEA 7,200 4,560 2,640
= 5,760
[ia 1,440
202 Odl 1,920 1,360 560
= 1,920
01 = LH 4 Hi 1,920 1,360 560
LASZAMOHI(ZAE) 20,0009 x24It +23] 960
= 960
OASZALOHI(JISZE) 20,0008 125 It *43) 960
= 960
301 LAz 5,280 3,200 2,080
= 3,840
s 1,440
12 J|EBtE 4= 5,280 3,200 2,080
OASZAbsIH AHHIE A (Y EH) 80,0003 *24H 1,920
= 1,920
OLSZASIH A B (OIS E)
160,000& »12H 1,920
= 1,920
OASZASIH MABAH(XL ST ES)
160, 000& »9H 1,440
MOIH=EQl e-HIELIA &ASEE K& 5,000 5,000 0
= 2,500
i 2,500
301 et d = 5,000 5,000 0
= 2,500
i 2,500
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2N S SME
Hu: sEHEBY 22

o9 sYYY 2 Y (e9: & 9)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
09 HALAHIEA S 5,000 5,000 0
OsY e-HELA WX 5,000
— AMOIH=Hol FAT 24 1,000
= 500
s 500
—e-HIZUA CIHZE s ZAME 4,000
= 2,000
s 2,000
d2s=sg 43 N 5,000 4,000 1,000
< 1,500
e 3,500
307 21201 A 5,000 0 5,000
< 1,500
i 3,500
02 QB HAANGFEX 5,000 0 5,000
O&Es sgel g4ds N3 5,000
< 1,500
s 3,500
Fdsgel 39 g 24 ALE A 1,800 0 1,800
=2 900
i 900
201 Let24dH] 1,800 0 1,800
= 900
[ia 900
03 &AL S HI 1,800 0 1,800
O3d=sgel 248 X 1,800
= 900
e 900
SEHETRE 2435 1,653,520 844,193 809,327
= 75,000
s 325,000
< 212,020
i 1,041,500
e sENYE =S4 79,700 71,703 7,997
< 6,800
s 72,900
SEWHE u=s 27,700 27,703 A3
201 £B-2dH| 2,700 1,730 970
01 At 22l 2,700 1,730 970
OF=Jl XAt 600
Ou=suM HM&E S 1,500
Oouns 2d=37Y S 600
206 M= Hl 10,000 8,270 1,730
01 M= 4l 10,000 8,270 1,730
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2N
X ZH -
L= B

el

SIS dH

SELHENA 253

sENES U3H JIsg

SA - BB B () - MM - BES Ol &t o San HmEET

OstEII8nsE I At Xt 600
Osdts2lBu=sd 2228 7Y S 500

02 =224l 10,520 9,800 720
OsdESII2UsE FH =48 S 5,000
O=sZdazsta dIIe3 2,760
Os&SINIUEE IHARS 2,760

405 RH&HE S HI 6,000 8,000 A2,000

01 AL EZFH S 6,000 8,000 A 2,000
Ou=s% Fdl 2 =S 6,000

AU =Y 2435 AlY 2,000 3,000 A 1,000
= 1,000
= 1,000

301 et A=z 2,000 3,000 A 1,000
< 1,000
s 1,000

09 AL HIZB A S 2,000 3,000 A 1,000
OAHIX=sg 243 AlY 2,000
< 1,000
e 1,000

=& 24s o7 2= 10,000 2,500 7,500
< 5,000
[ia 5,000

402 RI2FX=01 M 10,000 0 10,000
< 5,000
s 5,000

02 QI EAISEZ (OIS ) 10,000 0 10,000
OU=d ¢S eI ? 22 10,000
< 5,000
[ia 5,000

SHSE 4 AEY 50,000 0 50,000
< 25,000
e 25,000

307 glz2+ol & 50,000 0 50,000
< 25,000
i 25,000

02 YAFHAANHFEE 50,000 0 50,000
OsJiotd S8AY 50,000
< 25,000
s 25,000

STEUSST AL AY 5,000 5,000 0
< 2,500
[ia 2,500

307 21201 A 5,000 5,000 0
< 2,500
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2N

X{ XH -
S =

=o)l = ME
SEMETY B3

ST CS=E
o -
Ehel

sENES U3H JIsg

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

o 2,500

02 It M AMHEE 5,000 5,000 0
Oszussd g3 AlE 5,000
< 2,500
[ia 2,500

S8 BEIINSHE AXI(29x) 1,000,000 400,000 600,000
s 300,000
= 90,000
s 610,000

401 AIEHI L 201 470,000 400,000 70,000
s 235,000
< 70,500
[ia 164,500

01 A& Bl 450,000 390,000 60,000
Osttg SIS HH X (249X1) 450,000
s 225,000
< 67,500
e 157,500

03 AIE S THHI 20,000 0 20,000
Ostte SEIHSHH AXI(24X1H) 20,000
s 10,000
< 3,000
[ia 7,000

405 TtabF S| 530,000 0 530,000
s 65,000
< 19,500
s 445,500

01 XML = ZFH SH| 530,000 0 530,000
Osttg SIISHH FEH P (24HXR) 530,000
s 65,000
< 19,500
e 445,500

SZE NS 433 A" 100,000 0 100,000
= 50,000
s 50,000

307 glz2tol & 10,000 0 10,000
= 5,000
s 5,000

02 P HAHEE 10,000 0 10,000
Os& AR 433 Ald™ 10,000
= 5,000
s 5,000

402 RIZEXtE0| A 90,000 0 90,000
= 45,000
e 45,000

02 22t X2 AL E X (0l THE) 90,000 0 90,000
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AN seIIsHE

MY SEMENY 23

?: sENJAY OEHE Jseg (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Os& ANsXHE 433 Al 90,000
2 45,000
[ia 45,000

Aesg 4 JIsXd AEOER) 100,000 0 100,000
< 50,000
i 50,000

307 21201 A 100,000 0 100,000
< 50,000
e 50,000

02 QB AANHFEX 100,000 0 100,000
OXgsd 4 J=Xg AldY 100,000
< 50,000
s 50,000

SESA NS B AlY 30,000 0 30,000
= 15,000
s 15,000

307 21240 20,000 0 20,000
= 10,000
i 10,000

02 It S AIHE L 20,000 0 20,000
OHESA X33t SHESHAHY 20,000
< 10,000
[ 10,000

402 DI2HX 20| & 10,000 0 10,000
< 5,000
fia 5,000

02 LA TEALEZ(0IETHR) 10,000 0 10,000
OHESA X33 SESHAHE 10,000
< 5,000
[ia 5,000

AL sE=02 |4 258,000 315,000 A 57,000
= 25,000
s 25,000
< 16,720
[ia 191,280

258 AFIY 23 3,000 3,000 0
< 600
[ia 2,400

402 RIZ2EXt20l ™ 3,000 0 3,000
< 600
[ia 2,400

02 RIZt 2 AL EZ (OIS ) 3,000 0 3,000
Ox=& NI E=2 3,000
< 600
s 2,400

s8I o234 N 150,000 72,000 78,000
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